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Where the random points
that were generated in

the rectangle region
“landed” or “hit" the target
are shown as PURPLE dots,

There a not a lot of dots,

it was decided twenty
would be plenty.

The Monte Carlo method i 1 k4 Lf
was used to estimate  §  \wpa¢is the area that the Monte Carlo

the area of the elipse, ie.  § ;5 1ation would calculate for the area
area inside the RED oval. ¢4 ovaL?

The rectangle that completly Note: Show your work.

encloses the oval has i Alsc, nobody would ever a Monte
corners at (1,3) and (4,1). Carlo simulation and only throw 20 dartst

1. Calculate the area of the circle and show your work and process of arriving at your result. There were a total of 20
darts thrown at the target g‘)

H@ ] it = 7 =31
L)t = 3 =11
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